L2 6
I =
L1
L3 L4
O0%%l (¢13.0-¢17.5)

e L1 L2 L3 L DI L4 G B4 RF
SD00S-23-XP20 23 47.6 50.4 97.6 20 50 1/8 M2.5%6 T8
SD00S-35-XP20 35 63.5 66.3 113.5 20 50 1/8 M2.5'6 T8
SDO0H-64-XP20 64 92.1 94.9 142.1 20 50 1/8 M2.5'6 T8
SDOOH-114-XP20 114 142.9 145.7 192.9 20 50 1/8 M2.5'6 T8
SDOOH-178-XP20 178 206.4 209.1 256.4 20 50 1/8 M2.5°6 T8
SD00S-240-XP20 240 268.6 271.3 318.6 20 50 1/8 M2.5%6 T8
SD00S-295-XP20 295 323.9 326.7 373.9 20 50 1/8 M2.5%6 T8
SD00S-387-XP20 387 416 418.8 466 20 50 1/8 M2.5'6 T8

O05%7% (¢15.5-¢17.5)

e L1 L2 L3 L D1 L4 G B RE
SD05S-23-XP20 23 47.6 50.4 97.6 20 50 1/8 M2.5"6 T8
SD05S-35-XP20 35 63.5 66.3 113.5 20 50 1/8 M2.5%6 T8
SDO5H-64-XP20 64 92.1 94.9 142.1 20 50 1/8 M2.5%6 T8
SDO5H-114-XP20 114 142.9 145.7 192.9 20 50 1/8 M2.5%6 T8
SDO5H-178-XP20 178 206.4 209.1 256.4 20 50 1/8 M2.5'6 T8
SD05S-240-XP20 240 268.6 271.3 318.6 20 50 1/8 M2.5'6 T8
SD05S-295-XP20 295 323.9 326.7 373.9 20 50 1/8 M2.5%6 T8
SD05S-387-XP20 387 416 418.8 466 20 50 1/8 M2.5°6 T8

10%7% (¢17.6-¢24.4)

Bs L1 L2 L3 L D1 L4 G iR RF
SD10S-48-XP25 48 75.8 79.4 131.8 25 56 1/8 M3°8 T8
SD10S-67-XP25 67 107.2 110.7 163.1 25 56 1/8 M3°8 T8
SD10H-118-XP25 118 154.8 158.4 210.8 25 56 1/8 M3°8 T8
SD10H-168-XP25 168 205.6 209.2 261.6 25 56 1/8 M3°8 T8
SD10H-218-XP25 218 255.3 258.9 311.3 25 56 1/8 M3*8 T8
SD10H-270-XP25 270 307.2 310.8 363.2 25 56 1/8 M38 T8
SD10S-365-XP25 365 402.2 405.8 458.2 25 56 1/8 M3°8 T8
SD10S-457-XP25 457 494.5 498.1 550.5 25 56 1/8 M3°8 T8
SD10S-569-XP25 569 602.5 606.1 658.5 25 56 1/8 M3°8 T8

15R% (¢22.0-¢24.4)

e L1 L2 L3 L DI L4 G B RF
SD155-57-XP25 57 88.5 92.1 144.5 25 56 1/8 M3°8 T8
SD155-67-XP25 67 107.2 110.7 163.1 25 56 1/8 M3*8 T8
SD15H-118-XP25 118 154.8 158.4 210.8 25 56 1/8 M3°8 T8
SD15H-168-XP25 168 205.6 209.2 261.6 25 56 1/8 M3°8 T8
SD15H-218-XP25 218 255.3 258.9 311.3 25 56 1/8 M3°8 T8
SD15H-270-XP25 270 307.2 310.8 363.2 25 56 1/8 M3°8 T8
SD15S-365-XP25 365 402.2 405.8 458.2 25 56 1/8 M3°8 T8
SD15S-457-XP25 457 494.5 498.1 550.5 25 56 1/8 M3*8 T8
SD155-569-XP25 569 602.5 606.1 658.5 25 56 1/8 M3°8 T8

20%7% ($24.5-¢35.0)

pies L1 L2 L3 L D1 L4 G By wRF
SD20S-57-XP32 57 88.5 92.1 148.5 32 60 1/4 M3.5*10 T15
SD20S-86-XP32 86 128.6 132.2 188.6 32 60 1/4 M3.5*10 T15
SD20H-137-XP32 137 179.4 183 239.4 32 60 1/4 M3.5*10 T15
SD20H-187-XP32 187 230.2 233.8 290.2 32 60 1/4 M3.5*10 T15
SD20H-237-XP32 237 279.9 283.5 339.9 32 60 1/4 M3.5*10 T15
SD20H-289-XP32 289 331.8 335.4 391.8 32 60 1/4 M3.5*10 T156
SD20H-400-XP32 400 442.8 446.4 502.8 32 60 1/4 M3.5*10 T15
SD20S-400-XP32 400 442.8 446.4 502.8 32 60 1/4 M3.5*10 T15
SD20S-511-XP32 551 554.1 557.7 614.1 32 60 1/4 M3.5*10 T15
SD20S-692-XP32 692 735.1 738.7 795.1 32 60 1/4 M3.5*10 T15

25%7% ($30.0-¢35.0)

Bs L1 L2 L3 L D1 L4 G iR wRF
SD255-92-XP32 92 123.4 127 183.4 32 60 1/4 M3.5*10 T15
SD258-86-XP32 86 128.6 132.2 188.6 32 60 1/4 M3.5*10 T15
SD25H-137-XP32 137 179.4 183 239.4 32 60 1/4 M3.5*10 T15
SD25H-187-XP32 187 230.2 233.8 290.2 32 60 1/4 M3.5*10 T15
SD25H-237-XP32 237 279.9 283.5 339.9 32 60 1/4 M3.5*10 T15
SD25H-289-XP32 289 331.8 335.4 391.8 32 60 1/4 M3.5*10 T15
SD25H-400-XP32 400 442.8 446.4 502.8 32 60 1/4 M3.5*10 T15
SD258-400-XP32 400 442.8 446.4 502.8 32 60 1/4 M3.5*10 T15
SD258-511-XP32 511 554.1 557.7 614.1 32 60 1/4 M3.5*10 T15
SD258-692-XP32 692 735.1 738.7 795.1 32 60 1/4 M3.5*10 T15

30%% (¢35.1-¢47.9)

Bs L1 L2 L3 L D1 L4 G Ry wRF
SD30S-76-XP40 76 125 129.8 195 40 70 1/4 M5*10 T20
SD30S-121-XP40 121 173 177.8 243 40 70 1/4 M5*10 T20
SD30H-165-XP40 165 217.5 222.3 287.5 40 70 1/4 M5*10 T20
SD30H-210-XP40 210 261.9 266.7 331.9 40 70 1/4 M5*10 T20
SD30H-260-XP40 260 312.3 317.1 382.3 40 70 1/4 M5*10 T20
SD30S-349-XP40 349 401.6 406.4 471.6 40 70 1/4 M5*10 T20
SD30H-349-XP40 349 401.6 406.4 471.6 40 70 1/4 M5*10 T20
SD30S-559-XP40 559 611.1 615.9 681.1 40 70 1/4 M5*10 T20
SD30S-787-XP40 787 839.7 844.5 909.7 40 70 1/4 M5*10 T20

35&% (¢42.0-647.9)

s L1 L2 L3 L D1 L4 G B wRF
SD35S-76-XP40 76 125 129.8 195 40 70 1/4 M5*10 T20
SD35S-121-XP40 121 173 177.8 243 40 70 1/4 M5*10 T20
SD35H-165-XP40 165 2175 222.3 287.5 40 70 1/4 M5*10 T20
SD35H-210-XP40 210 261.9 266.7 331.9 40 70 1/4 M5*10 T20
SD35H-260-XP40 260 3123 317.1 382.3 40 70 1/4 M5*10 T20
SD358-349-XP40 349 401.6 406.4 471.6 40 70 1/4 M5*10 T20
SD35H-349-XP40 349 401.6 406.4 471.6 40 70 1/4 M5*10 T20
SD358-559-XP40 559 611.1 615.9 681.1 40 70 1/4 M5*10 T20
SD35S-787-XP40 787 839.7 844.5 909.7 40 70 1/4 M5*10 T20




ir ih

0 & =04 8- ™ ¢

40%7%I (¢48.0-¢65.28)

EE] ] L2 L3 L D1 L4 G B4 RE
SD40S-130-XP40 130 179.4 184.2 249.4 40 70 /4 M5*15 T20
SD40H-232-XP40 232 281 285.8 351 40 70 /4 M5*15 T20
SD40S-350-XP40 350 399.2 404 469.2 40 70 /4 M5*15 T20
SD40H-350-XP40 350 399.2 404 469.2 40 70 /4 M5*15 T20
SD40S-422-XP40 422 4715 476.3 541.5 40 70 1/4 M5*15 T20
SD40H-422-XP40 422 4715 476.3 541.5 40 70 /4 M5*15 T20
SD40S-525-XP40 525 574.2 579 644.2 40 70 /4 M5*15 T20
SD40S-625-XP40 625 674.7 679.5 744.7 40 70 /4 M5*15 T20
SD40S-879-XP40 879 928.7 933.5 998.7 40 70 /4 M5"15 T20

45%7% (¢$56.0-$65.28)

FE] L L2 L3 L D1 L4 G R4 RF
SD455-130-XP40 130 179.4 184.2 249.4 40 70 /4 M5*15 T20
SD45H-232-XP40 232 281 285.8 351 40 70 1/4 M5*15 T20
SD455-350-XP40 350 399.2 404 469.2 40 70 1/4 M5*15 T20
SD45H-350-XP40 350 399.2 404 469.2 40 70 /4 M5*15 T20
SD45H-422-XP40 422 4715 4763 5415 40 70 /4 M5*15 T20
SD45S-422-XP40 422 4715 476.3 541.5 40 70 1/4 M5*15 T20
SD455-525-XP40 525 574.2 579 644.2 40 70 /4 M5*15 T20
SD455-625-XP40 625 674.7 679.5 744.7 40 70 /4 M5*15 T20
SD455-879-XP40 879 928.7 9335 998.7 40 70 /4 M5*15 T20

50%% (¢65.3-¢$89.08)

RS L1 L2 3 L D1 L4 G [ RE
SD50S-171-XP50 171 235 240 315 50 80 /2 M6*15 T25
SD50S-350-XP50 350 414 419 494 50 80 1/2 M6"15 T25
SD50S-660-XP50 660 724 729 804 50 80 /2 M6"15 T25

70%5 (689.1-¢114.48)

S L1 L2 L3 L D1 L4 G [ RF
SD70S-200-XP50 200 275 280 355 50 80 1/2 M6°15 T25
SD70S-400-XP50 400 475 480 555 50 80 /2 M6°15 T25
SD70S-800-XP50 800 875 880 955 50 80 1/2 M6"15 T25

BSds3im:

SD
2

10
T

168

TIRFEE %51 1w
SD [ ST s 10~ 15 H [ isiEs
20, 25, s | =

XP
T

32

TAERZEE
XP | ER
MT | EK

DHBERNTRE

118, 168, 218%

HEBR T ( mm)

XP | 25. 32, 40, 50

MT | 2.3.4.5

00%% (¢13.0-¢617.5)

BE L1 L2 L3 L A B ShE By RF
SD00S-35-MT2 35 55.5 95.4 167.3 MT2 1/16 RK-MT2R | M2.5%6 T8
SDOOH-63-MT2 63 84.1 124 195.9 MT2 1/16 RK-MT2R | M2.5%6 T8
SDOOH-114-MT2 114 135 174.8 246.7 MT2 1/16 RK-MT2R | M2.5%6 T8
SDOOH-178-MT2 178 198.5 238.3 310.2 MT2 1/16 RK-MT2R [ M2.5%6 T8

O5%%l (¢15.5-¢17.5)

S L1 L2 L3 L A B shE R RF
SD05S-35-MT2 35 55.5 95.4 167.3 MT2 1/16 RK-MT2R | M2.5%6 T8
SDO5H-63-MT2 63 84.1 124 195.9 MT2 1/16 RK-MT2R | M2.5%6 T8
SDO5H-114-MT2 114 135 174.8 246.7 MT2 1/16 RK-MT2R | M2.5%6 T8
SDO5H-178-MT2 178 198.5 238.3 310.2 MT2 1/16 RK-MT2R [ M2.5%6 T8

10&% (¢17.6-¢$24.4)

BE L1 L2 L3 L A B ShE [ RF
SD10S-70-MT3 70 98.4 149 239 MT3 1/8 RK-MT3R M3*8 T8
SD10H-121-MT3 121 149.2 199.8 289.8 MT3 1/8 RK-MT3R M3'8 T8
SD10H-171-MT3 171 200 250.6 340.7 MT3 1/8 RK-MT3R M3*8 T8
SD10H-222-MT3 222 250.5 301.1 391.2 MT3 1/8 RK-MT3R M3*8 T8
SD10H-273-MT3 273 301.6 352.2 442.3 MT3 1/8 RK-MT3R M3"8 T8

1585 (¢22.0-¢24.4)

e L1 L2 L3 L A B ShE By RE
SD155-70-MT3 70 98.4 149 239 MT3 1/8 RK-MT3R M3°8 T8
SD15H-121-MT3 121 149.2 199.8 289.8 MT3 1/8 RK-MT3R M3*8 T8
SD15H-171-MT3 171 200 250.6 340.7 MT3 1/8 RK-MT3R M3*8 T8
SD15H-222-MT3 222 250.5 301.1 391.2 MT3 1/8 RK-MT3R M3°8 T8
SD15H-273-MT3 273 301.6 352.2 442.3 MT3 1/8 RK-MT3R M3*8 T8

20%% ($24.5-¢35.0)

oS L1 L2 L3 L A B shE B RF
SD20S-86-MT4 86 114.3 172.9 286.3 MT4 1/4 RK-MT4R [ M3.5*10 T15
SD20H-137-MT4 137 165.1 223.7 337.1 MT4 1/4 RK-MT4R [ M3.5*10 T15
SD20H-187-MT4 187 215.9 274.5 387.9 MT4 1/4 RK-MT4R [ M3.5*10 T15
SD20H-237-MT4 237 265.6 324.2 437.6 MT4 1/4 RK-MT4R | M3.5*10 T15
SD20H-289-MT4 289 317.5 376.1 489.5 MT4 1/4 RK-MT4R [ M3.5*10 T15
SD20S-400-MT4 400 428.5 487.1 600 MT4 1/4 RK-MT4R [ M3.5*10 T15
SD20H-400-MT4 400 428.5 487.1 600 MT4 1/4 RK-MT4R [ M3.5*10 T15




25%7% ($30.0-¢35.0)

s L1 L2 L3 L A B s By RF
SD255-86-MT4 86 114.3 172.9 286.3 MT4 1/4 RK-MT4R | M3.5*10 T15
SD25H-137-MT4 137 165.1 223.7 337.1 MT4 1/4 RK-MT4R | M3.5*10 T15
SD25H-187-MT4 187 215.9 274.5 387.9 MT4 1/4 RK-MT4R | M3.5*10 T15
SD25H-237-MT4 237 265.6 324.2 437.6 MT4 1/4 RK-MT4R | M3.5*10 T15
SD25H-289-MT4 289 317.5 376.1 489.5 MT4 1/4 RK-MT4R | M3.5*10 T15
SD255-400-MT4 400 428.5 487.1 600 MT4 1/4 RK-MT4R [ M3.5*10 T15
SD25H-400-MT4 400 428.5 487.1 600 MT4 1/4 RK-MT4R | M3.5*10 T15

30%7% (¢35.1-¢47.9)

Bs L1 L2 L3 1L A B shE By wRF
SD30S-121-MT4 121 152.4 211.7 324.4 MT4 1/4 RK-MT4R M5*10 T20
SD30H-165-MT4 165 196.9 256.2 368.9 MT4 1/4 RK-MT4R M5*10 T20
SD30H-209-MT4 209 241.3 300.6 413.3 MT4 1/4 RK-MT4R M5%10 T20
SD30H-260-MT4 260 291.8 351.1 463.8 MT4 1/4 RK-MT4R M5%10 T20
SD30H-349-MT4 349 381 440.3 553 MT4 1/4 RK-MT4R M5*10 T20
SD30S-349-MT4 349 381 440.3 553 MT4 1/4 RK-MT4R M5*10 T20
SD30S-559-MT4 559 590.6 649.9 762.5 MT4 1/4 RK-MT4R M5*10 T20
SD30S-787-MT4 787 819.2 878.5 991.1 MT4 1/4 RK-MT4R M5%10 T20

35&% (¢42.0-647.9)

ns L1 L2 L3 L A B ShE B RF
SD35S-121-MT4 121 152.4 211.7 324.4 MT4 1/4 RK-MT4R M5%10 T20
SD35H-165-MT4 165 196.9 256.2 368.9 MT4 1/4 RK-MT4R M5%10 T20
SD35H-209-MT4 209 241.3 300.6 413.3 MT4 1/4 RK-MT4R M5*10 T20
SD30H-260-MT4 260 291.8 351.1 463.8 MT4 1/4 RK-MT4R M5*10 T20
SD35H-349-MT4 349 381 440.3 553 MT4 1/4 RK-MT4R M5%10 T20
SD358-349-MT4 349 381 440.3 553 MT4 1/4 RK-MT4R M5*10 T20
SD358-559-MT4 559 590.6 649.9 762.5 MT4 1/4 RK-MT4R M5*10 T20
SD35S-787-MT4 787 819.2 878.5 991.1 MT4 1/4 RK-MT4R M5%10 T20

40%%I (¢48.0-¢65.28)

s L1 L2 L3 LL. A B shE By RF
SD40S-130-MT5 130 165.1 225 369.4 MT5 1/4 RK-MT5R1[ M5*15 T20
SD40H-232-MT5 232 266.7 326.6 471 MT5 1/4 RK-MT5R1| M5*15 T20
SD40S-350-MT5 350 384.9 444.8 589.2 MT5 1/4 RK-MT5R1| M5*15 T20
SD40H-350-MT5 350 384.9 444.8 589.2 MT5 1/4 RK-MT5R1[ M5*15 T20
SD40H-422-MT5 422 457.2 517.1 661.5 MT5 1/4 RK-MT5R1[ M5*15 T20
SD40S-422-MT5 422 457.2 517.1 661.5 MT5 1/4 RK-MT5R1[ M5*15 T20
SD40S-625-MT5 625 660.4 720.3 864.7 MT5 1/4 RK-MT5R1[ M5*15 T20
SD40S-879-MT5 879 914.4 974.3 1119 MT5 1/4 RK-MT5R1| M5*15 T20

45%% (¢56.0-¢65.28)

S L1 L2 L3 L A B ShE 323 wRF
SD45S-130-MT5 130 165.1 225 369.4 MT5 1/4 RK-MT5R1| M5*15 T20
SD45H-232-MT5 232 266.7 326.6 471 MT5 1/4 RK-MT5R1|[ M5*15 T20
SD458-350-MT5 350 384.9 444.8 589.2 MT5 1/4 RK-MT5R1| M5*15 T20
SD45H-350-MT5 350 384.9 444.8 589.2 MT5 1/4 RK-MT5R1| M5*15 T20
SD45H-422-MT5 422 457.2 517.1 661.5 MT5 1/4 RK-MT5R1| M5*15 T20
SD458-422-MT5 422 457.2 517.1 661.5 MT5 1/4 RK-MT5R1| M5*15 T20
SD458-625-MT5 625 660.4 720.3 864.7 MT5 1/4 RK-MT5R1| M5*15 T20
SD45S-879-MT5 879 914.4 974.3 1119 MT5 1/4 RK-MT5R1| M5*15 T20

50%7% ($65.3-¢89.08)

s L1 L2 L3 L A B S By wRF
SD50S-171-MT5 171 215.9 287.3 430.2 MT5 1/2 RK-MT5R2| M6*15 T25
SD50H-273-MT5 273 317.5 388.9 531.8 MT5 1/2 RK-MT5R2| M6*15 T25
SD508-464-MT5 464 508 579.4 722.3 MT5 1/2 RK-MT5R2| M6*15 T25
SD508-660-MT5 660 704.8 776.2 919.1 MT5 1/2 RK-MT5R2| M6*15 T25
SD508-889-MT5 889 933.4 1005 1148 MT5 1/2 RK-MT5R2| M6*15 T25

70%7% ($89.1-¢6114.48)

B L1 L2 L3 L A B ShE 23 wRF
SD70S-171-MT5 171 225.4 296.8 439.7 MT5 1/2 RK-MT5R2| M6*15 T25
SD70H-273-MT5 273 327 398.5 541.3 MT5 1/2 RK-MT5R2| M6*15 T25
SD708-556-MT5 556 609.6 681.1 823.9 MT5 1/2 RK-MT5R2| M6*15 T25
SD708-685-MT5 685 739.7 811.2 954 MT5 1/2 RK-MT5R2| M6*15 T25
SD708-939-MT5 939 993.7 1065.2 1208 MT5 1/2 RK-MT5R2| M6*15 T25

A
D R IF
S RE(A) IME(B) EE(C) HATEL(D) RENBEIRL(D)
RK-MT2R 19.4 49 225 M8X1.25 1/8"
RK-MT3R 255 53 30 M8X1.25 1/8"
RK-MT4R 32.5 63 36 M10X1.5 1/4"
RK-MT5R1 48.5 76 36 M10X1.5 1/4"
RK-MT5R2 60.1 95.3 44.5 M12X1.75 1/2"




PN E:

B
—. FHEEARTHENARIERTR  TNATFHREERSMERRE L M. BEEHE. =
Z. MIFRAMENIHREERARMENFEDRETNI , F8EIRMESNERES. MASENTNSHBEN=fH
R AER=MMEIRHYITLZETFA—ZFHEIF L KAABRREFEDTF LEWIRAAR.
=, M EEGLEFEEESENTIMARBERIR  FARNERAEREER  NREER , NEE , @EX, B2EMNK
BReESTDRET. O
. FBEFHDFEEHROHKILI  EEREFARENLDNR  XESAAMMERTDANFERSESD  BEMENFHRE.
. AETFHIDAYBRITEEE , MITHRXNOEBYANERE  BHEAREENTHROKE  MNEBENSZHE B 132 E i
AHEERE , AT —#T2E NI A%E  BFAMIKE.
N, FHDRFEBEEREOEE WONKREIZH , FUUESMIRAL @
FEHMISHitE:
BENFHD RN KRB ENTHEI A REEN0-40KAEE  BEESKIEEN60-80KAES.
HHEEEARXAS=Vc*1000/3.14/Dc ( SHEEE , VCAKERE , DcATIRER)
BT ERARAVI=Fr*S (VIR  FraBitiftis  ShEE ) FH) B8 HAREIAEIE50.2-0.6mm,
AN TREAXATc=H/Vi*60(TcAMIRIE , HAFLR , VERHEEA )
INIEE, HETERM
MIEE20mm , FE100mm , HENKBERTIH | SEERIOKTE, TR _ _
$=40%1000/3.14/20=636 (RNEHHIEN600-65087H) B% | PR Suaseva [ prmewmsa0| mEasciz | Pt | PF usswmviz] BreEwsi0] BEAEGIZ
VF=0.2%636~127 (ENEGHEHHAR10-130E5) T = = = 290 o ~ =
Tc=100/127*60~47 (MMIASEILZAS0ER ) 135 ° ° o 32.5 ° ° ®
ERACREPRIE. HANKREFPNNIRBESEESMAE., NERIVBEELRKT  HISHNEFRLFRBERAHEEL. 14.0 ° ° [¢] 33.0 ° ° ®
14.5 () [ ) O 33.5 4.76 [ J [J [ ]
15.0 [ ] [ ] 0 34.0 [ ] [ ] [ ]
= ko1 7) =3 155 <18 ° D 0 345 D ° ®
16.0 [J [ ] O 35.0 [ ] [ ] [ ]
MI20Cr (@i, REMARE) ,HRC25, BEE22.7mm , RES40mm , SHLEMA , S 400rev/min / L : . - = : : :
Fro.Tmm/rev (L2 HAEFPHARRTFEY  EEFANNISHNLSELNRES ). FHEINIRE 75 Y ° o 365 ° Y °
260mm (114542 ) , MIAXAWNLIMI, MMTIRE0. ITmm , BNSFHF., FEAMEKSERNISLERE ., NI 18.0 ° ° ° 37.0 ° ° °
60MF , EAEHIAS2K, BEFRAFEAEMBATDFHIREERXRSmmELE, 18.5 ° ° D 375 ° ° @
19.0 () [ ) [ ) 38.0 [ J [ @)
19.5 [ ] [ ] [ ] 38.5 [ [ J O
20.0 [J [ ] [ J 39.0 [ ] [ Q
20.5 [ J [ ] [J 39.5 6{35! [ ] [ J QO
21.0 3.97 () [J [J 40.0 [ J [J QO
21.5 [ ] [ ] [ ] 41.0 [ [ O
22.0 [ ] [ ] [ J 42.0 [ ] [ J O
22.5 [ ] [ ) [ ] 43.0 [ ] [J Q
23.0 () [ ) () 44.0 [ J [ J QO
23.5: [ ] [ ] [ ] 45.0 [ [ O
24.0 [ ] [ ] [ J 46.0 [ ] [ J O
24.5 [J [ ] [J 47.0 [ ] [J Q
25.0 [J [ ) [J 48.0 [ J [J Q
25.5 ) [ ) ) 49.0 [J [J O
26.0 [ ] [ ] [ J 50.0 [ ] (] O
26.5 [ J [ ] [ J 51.0 [ ] [ ] QO
27.0 [J [ ] [ ] 52.0 [ ] [ J Q
27.5 [ ] [ ] [ ] 53.0 (] [ ] @)
28.0 4.76 [ ] [ ] [ ] 54.0 7.94 [ [ J (@]
28.5 [J [ ) [ J 55.0 [ ] [ ] O
29.0 [ J [ ] [ J 56.0 [ J [J [©]
29.5 [ ) [ ) [ ) 57.0 [ ] [ ] O
30.0 ) [ ] [ J 58.0 [ J [ J O
30.5 [ J [ ] [ J 59.0 [ ] [ J [©)
31.0 [J [ ] [J 60.0 [ [J 8]
31.5 [ ) [ ] ()




